15th of October, 1997 ( Jane's teaching), 4th lesson

TAPE 18
Year 9

Overal Description of the lesson

Structure: The students work in groups ( 6 groups of students are in the class about
5-6 students in each group. They work on the problem of making a pack for a
company to put 48 cubs each of dimensions 2cm.The company will give a prize to the
one who has used the least card. The teacher gave 48 multi cubes in each group, a
prompt sheet, squared paper, card, A4 sheets. The groups work on this problem for
about 45 minutes. The teacher goes around and discusses with them. During the last
15 minutes she discusses with them about the importance of cooperative work and
about what she noticed about the way they cooperated.

Mathematics content: Properties of 3-D shapes, areas, volumes, nets could be
considered by the students during their exploration

Type of activities: practical - investigational work.

Sitting with a particular group of students: I am sitting with Paul, Jonathan, Gary,

Shaun, Ian, Ben.

Counter
/Structure A
(000-113)
Initialising the
task

Text

I have not recorded the beginning of the lesson where the
task is given by the teacher. I use my field notes to
describe it. The teacher has given in each group a square
paper, card, A4 sheets and a sheet which describes the
problem. The teacher invites someone to come on the
board and draw a 2 cmx 2 cm x 2 cm cube. Michael
draws a square o‘r side 2 cm. Some students say that this
is a square. The teacher says "a cube facing in front".
Another student comes on the board and draws a cube

T: Can you draw your dimensions as Michael has done?
T: You need to make a box to fit 48 of those cubes. The
squared paper is to try out some designs. It is a group
project. Everyone needs to be busy.

T: Right. Thank you (asks for silence)

T: The company will give prize to the one who has used
the least card. We want to find the best size and shape of
the box.

The groups start working. They are very excited and it is
not possible to listen to what they say. I gave the tape
recorder to the teacher to use it as she goes aroung in the
groups. I will also write down about my observations in
the group I was sitting.

Comments



2
(113- 146) —
Discussing with
the group of
Michael

>
(146- 172) —

Discussing with
Stewart (I have
to check his
group, he
probably sits
with Alex,
Tom,..)

&

The teacher goes to the group of Michael.

M: I do not know how to work it out yet.

T: Let's take this one a step back. When Michael has
made his block, Gary you need to practice first of all, can
you stop that, join in?

G: Not really .

T: They might do it in all over your home diary.

(Gary says something I can't hear)

T: You've spent 5 minutes doing that in front of me.

"Right. Come up. Join in. You are saying it has to be as

compact as possible to use as least card as possible and I
suggest that's great. Good.. Now, how are you going
actually prove this to them? What do you need to do now?
(Another student says something (irrelevant with the
question the others in the group are laughing)

T: Can I draw your attention to the cm squared paper that
I've given you? How might we use that?

Patrick(?): If it is 1cm by 1 cm then you can just do, each
square will be 2 cm..

T: It could be. Yes. You might then actually fit the whole
thing on this paper anyway.

P: Yes.

T: Even if you press it down. O.k.

M (says what he is trying to do, I cannot hear)

T: Stewart, what have you discovered about your net
here?

S: It works.

T: O.K. But remember I said to you how many sheets of
card do you need. What is the total area of this..

S: It's ... cubic cms.

T: It's the actual area which is in cms squared, when it's
made up into a box, then it is cm cubed. How many cms
squared? Can we write down on the sheets? I 'll come
back to you in a minute(to another student). The surface
area is how much?

S: The surface, is it the top?

T: No, the whole thing.

S: 352

T: 352 cms squared. Now, the volume is indeed the 48
cubes, how do you they package? how many in a row?
and how many..

S: 2 in the row

T: 2 layers

S: 4,8 no (he counts) 6 across, 4 wide by two high.

T: So, it is actually 12 by 8 by 4 cm cubed. That's how the
cubes are. Each of those 6 cubes is 2 cm across, across
there you,ve -got 12, across there you,ve got 8, across
there you've got 4. O.k?

(Stewart says something I cannot clearly hear)

T: Have 1? 12 by 8 by 4 is , So your actual volume there
is 384 cm cubed.
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